
 

Formulário Geral 

div E=/0  ; rot E= -B/t  ; divB = 0 ; rot B = 0(j+0 E/t)  ;   

I = Ic  [sen()/()]2  [sen(N/2) /sen(/2)]2      
 I = I0 [sen(N/2) /sen(/2)]2  ;  I = 4I0 cos2 (/2)  ;  D  m   ; m(m  /(d cosm)   ;  

R  m N = / 

1/2/(N d cosm) ; R =        ≈          ;   0=4  x 10-7 H/m  ;  0=8,8 x 10-12 F/m   ; 

  c = 3,0 .108 m/ s   

h = 6,6 x 10-34 J s = 4,1 x 10-15 eV s  ;   = 1,0 x 10-34 J s = 0,66 x 10-15 eV s   ;   hc = 1240 eV.nm   

1 eV = 1,610-19J     ;    1J = 6,2 . 1018 eV     ;    mpc
2 = 938 MeV    ;      mec

2=0,511 MeV    ;  

e = 1,6. 10-19 C    ;  me= 9,1.10-31kg    ;     c = 3,0 .108 m/ s    ;   < sen2 > = < cos2> = ½ 

1m = 10-6 m  ;  1nm = 10-9 m  ; 1 Å = 10-10 m   ;  1pm = 10-12 m  ;  1GeV = 103 MeV = 106 keV = 109 eV 

 E2 =( pc)2 + (m0
 c2)2     ;        =              ;    E = K + m0c

2 =  m0c
2  ;  p =  m0u  ;   = (1 – (v /c) 2)-1/2    

x’=  (x -vt) t’ =  (t - vx/c2)  ux = (u’x + v)/( 1 + u’x v/c2) uy = u’y /  (1 + u’x v/c2)  

2  1 h/mc) (1 - cos) = c (1 - cos)  ,  c = 2,43 pm          ;     f = f0 {(1+v/c)/(1-v/c)}1/2    

En = - (          ) eV  ;    rn =              ) nm   ;    x px ≥     ;    E t ≥         

- ( 2/2m)(
2

(x,t) /x2) + U(x,t)(x,t) = i [(x,t)/t]  ;   - ( 2/2m) (d
2

u(x) /dx2)+U(x) u(x) = E u(x) 

 

 


